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QUESTION 1

Given the code fragment:

LocalDate valentinesDay =LocalDate.of(2015, Month.FEBRUARY, 14);
LocalDate nextYear = valentinesDay.plusYears(1);
nextYear.plusDays(15); //line n1
System.out.printin(nextYear);

What is the result?

A. 2016-02-14

B. A DateTimeException is thrown.

C. 2016-02-29

D. A compilation error occurs at line nl.

Correct Answer: A

QUESTION 2

Given:

=)

interface { public void methedl({):; }

interface Q extends P { public void methedl(): }

interface R extends P { public wvoid methodZ () ;}

interface § { public default woid method{) { } }

interface T { public void methodl():; public void method2 (): }
interface U { public void methodl(): public abstract void method2(): }
Which two interfaces can you use to create lambda expressions? (Choose two.)

AT

B.RC.P

D.S

E.Q

F.U
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Correct Answer: CD

QUESTION 3

Given the content: and given the code fragment:

MessagesBundle.properties file:
inquliry = How are you?
MessagesBundle de DE.properties file:

inquiry = Wie geht's?

Locale currentLocale;

f/ line 1

ResourceBundle messages = ResourceBundle.getBundle ("MessagesBundle”™, currentLocale);
System.out.println{messages.getString("inguiry™)):

Which two code fragments, when inserted at line 1 independently, enable the code to print "Wie geht\\'s?"
A. currentLocale = new Locale ("de", "DE");

B. currentLocale = new Locale.Builder ().setLanguage ("de").setRegion ("DE").build();
C. currentLocale = Locale. GERMAN;
D. currentlocale = new Locale(); currentLocale.setLanguage (“de"); currentLocale.setRegion ("DE");

E. currentLocale = Locale.getinstance(Locale. GERMAN,Locale. GERMANY);

Correct Answer: BD

QUESTION 4

Which two are elements of a singleton class? (Choose two.)

A. a transient reference to point to the single instance

B. a public method to instantiate the single instance

C. a public static method to return a copy of the singleton reference
D. a private constructor to the class

E. a public reference to point to the single instance

Correct Answer: BD
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QUESTION 5

Given the code fragment:

. Connection conn = DriveManagsr.getConnection (dbURL, userName, passWord):
10. String query = “SELECT id FROM Employee”;

11. try (Statement stmt = conn.createStatement()) i

12. ResultSet rs = stmt.executaQuery(guery):;

13. rs = stmt.executeQuery (“SELECT id FROM Customer”) ;

14. while (rs.next()) {

15, //process the results
i6. System.out.println(“Employee ID: “+ rs.getInt (“id”));
p r s

i8. } catch (Exception e) {
19. System.out.println (“Error"):;
2

Assume that:

The required database driver is configured in the classpath.

The appropriate database is accessible with the dbURL, userName, and passWord exists. The Employee
and Customer tables are available and each table has id column with a few records and the SQL queries
are valid.

What is the result of compiling and executing this code fragment?

A. The program prints employee IDs.

B. The program prints customer IDs.

C. The program prints Exception.

D. compilation fails on line 13.

Correct Answer: C
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